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Vin_dc_min
"#-.�


 V

Vin_dc_max
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Vout"0�
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Io "0�1
A

Pout "02
3 W
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Fo678
3 Hz
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Vf = Vmos - Vin_dc_max - @A
Vf BC�
D�
 V

Vmos 67
EF
 V

Vin_dc_max
@A
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Vmos_max = Vin_dc_max / (1-D)
Vmos_max
67EIJ

-/�
 V
Vin_dc_max D KLM
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Kps = Np / Ns = Vf / Vout
Kps PBC
Q�M

Np PCQ
�

Ns BCQ
�

Vf Vout
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Vin_dc_min * Dmax = Vf * (1 - Dmax)

Vin_dc_min Dmax -/
KLM

Vf

9:: :>G9:9?N?H =G<

1/2*(Ip1+Ip2)*Dmax*Vin_dc_min = Pout/η
RS����TU3Ip1=Ip2   ∆Ip=2*Ip1  => 2*Ip1*Dmax*Vin_dc_min=Pout/η
Ip1 67E
6V�1 A

Ip2 67E
7W�1 A

Dmax Vin_dc_min Pout
4
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Lp = Vin_dc_min*Dmax/(Fo*∆Ip)
Lp PC�
X H

Vin_dc_min Dmax Fo ∆Ip
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Ap=Aw*Ae = (Lp*Ip2*10000 / Bmax*Ko*Kj)^1.14

Ap  YZ[
\ cm^4

Lp Ip2
BmaxYZ
YX]^_

T

Ko `ab�
c�

Kj�1d_
c�

A/mm^2
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Np=Vin_dc_min*Ton/(Ae*Bmax)
Ton=(1/Fo)*Dmax
Np PCQ
�

Vin_dc_min Ton 67E
fRgh S

Ae  m^2 Bmax Fo Dmax

?9>N9=NG:G 9:: =>;<<?ij:< :>:::=:N :>; ;=::: :>G9:9?NN

Np PCQ
�

Ns BCQ�
klmnmko
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Lg=0.4Л*Np^2*Ae*(10^-8)/Lp
Lg pqr
_ cm s

Np Ae cm^2 Lp
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